ERSIFAR S

(B : M)
B X % ) X HRNAEE
4R6H B 4, 300 TRABAREHRERER
4B 8H BH 10, 000 |1 ;H FH EHl R 15 55
4A12H = 4,000t FERIBBBRHRR
48198 B 4, 300\t BE N B ILTH ERT R ERRS
4A25H B 4, 300 (B 1L X {RER RIRR
B 45 22,900
Hit 04 0
BREW 05 0
BhE 04 0
=& 14 4,000
Z Dfth 04 0
=1 S 26, 900




STHMTE AR

(BGL - )
B ft X & 2 XHRRF
5A18H B 5 320(fLS 4 A2 XY 5 THBOBAFILEEAE
5A20H Z Dt 12, A8 MBXHBELRER - BREXRZER THHAELER
5A27H B 4, 00| I R BEERE
5A31H BN 4, 300[B5 LU T REBAIRR
BM 3 13,920
Bt 04 0
BREV 04 0
BhE 04 0
=8 0% 0
Z Dt 14 12,428
a&t 4% 26, 348




THMTEA S

(BGL - )
B ft X o 2 XHRRF
6A28 B 4, 400\ RFHTHES
6A28 BN 4, 200t BETH E =
6A28 B 4,300 R AT ER
6A48 Bt 10, 000|chzERHEAEEH
6A15H B 4, 300(+f A BT H E &=
6A22H BN 4, 100 ERATHES
6A22H 3 5, 000(f2F BHMIREX A=
6A23H8 BN 4, 300 EFHTHE SR
6A2368 B 4, 300 EFHM R ER
6A26H Z Dt 1,000201 7 ERFMKITERF > b
BM his 29,900
Bt 4 10, 000
BR#EV 04 0
BE 04 0
=8 14 5,000
Z Dt 4 1,000
a&t 1044 45, 900




STHTETIAR

(BGL - )
B ft X & 2 XHRRF
1A23H Z Dt 2, 160l FERRETZEREREUSE
B 04 0
Bt 0% 0
BREN 04 0
BE 0% 0
= 04 0
Z Dfs 144 2,160
=1 14 2,160




STHMTESAR

(BGL - )
B ft X & 2 XHRRF
8A22H Z Dt 1LIBERHE~NDELFHITHES FLE
B 04 0
Bt 0% 0
BREN 04 0
BE 0% 0
= 04 0
Z Dfs 144 7,723
=1 14 1,123




STHMTFEIAS

(BGL - )
B ft X & 2 XHRRF
9A7H B 3, 800(EFrmIATIE =
9A8H BN 5, 000 (B ILt R E =
9A23H B 5 000|fEA#RERERMENES
HH 3t 13, 800
Bt 0% 0
BREN 04 0
BE 0% 0
= 04 0
Z Dfs 0% 0
= 3t 13, 800




THMITFI0R S

(BGL - )
B ft X & 2 XHRRF
10R9H B 4, 400dL BHTHE R
10A15H Bt 5,000 (R iiE B R EEF
10R2H Z Dfs 1, 540| 5 H# RAATHERS TRAREE D& E
10A208 &= 8, 000|Rm B IL=
10A20H Z Dfs 1, S40| R A EA LU B R ITERARE R EUE
10A29H &= 2,000 BR DA /N—Y BREEERAS
BM 4 4,400
Bt 14 5,000
BREV 04 0
BE 04 0
=8 21 10, 000
Z Dt 21 3,080
a&t 614 22,480




THMTFNAS

(BGL - )

B ft X & 2 XHRRF
NMATH Z Dt 4,400 E T RBATRBZEICH S BRR
11A5H Z Dt 6, S MBXBELEZERTHRHELER
1MATH Z Dfs 1, S40| RERFF R AIU T B R ITBR BE R &S
1MATH Z Dt 6, 260 2R EXRZERITHETELEN
1MA1TH = 10, 000(BEFE R LU=
11A19H Z Dt 6, 2600 FREERERITHETELEN
11A24H = 3, 000|fiF TRI MBI IS0 B FRZITENME R
B 04 0
Bt 0% 0
BREN 04 0
BE 0% 0
= 21 13, 000
Z Dfs St 24,830
= T 37,830




THMTFI12AS

(BGL - )
B ft X & 2 XHRRF
12R3H B 4,600| R F—o v LBIL RF—5HRAE
12368 T D1t 26, 640| R T —FEXRKFRE A DS
12A27H Bt 5, 000 BB HEEH
HH Kz 4, 600
Bt 4 5,000
BREN 04 0
BE 04 0
= 04 0
Z Dfs 14 26, 640
= 3 36, 240




SM2FE1RAS

(B : )

B X & L XHRNEBEF
1118 =& 5 000HRFE#HF=
18178 B 4, 400 T EMEHFR
1A18AH B9 3,900 FRMEFEXRUVERFER
1818H = 2,000 T BEEFHNEHESEREBEERAR
1A28H B 4, 4005 IUBE TREBFT [HERBEDEL]
18308 =8 6, 000[FILEZRIEFCLARFRLERER
18308 =8 6,000 ILEEREPC LARELHER
BB 34 12,700
it 014 0
BREW 014 0
A& 014 0
= 44 19, 000
Z Dt 014 0
= T 31,700




THM2F2R 5

(B - [
B X & L XHRNEBEF
2A1H B 4, A00|HABHREAFEBRRS - HRICHECBLUTOTR ) — FEGIET 5%
2R4H T D1t 1,650 = EREEMZRREREUDE
2R148 Z Dfth 4, 400|ILEE MR & DEBA=
2A15H B 4, 400t BETAREESAEZERFEDOY
2R22H ZDfth 2,200 LERRFDOYITE - FELEPLaVI—ILERE
BB yAGS 8, 800
it 014 0
BREW 014 0
A& 014 0
Ed- 014 0
Z Dt 3t 8, 250
a&t S 17,050




TM2FE3AS

(B
B ft X & & # XHRRF
3A18 B 4,400 ILEERES RS
3A10H Bt 10, 000|chzERHEAEEH
3A12H Z Dfs 25,000|FF - RFREFHFREFEH R
HH [R5 4, 400
Bt 1 10, 000
BREN 04 0
BE 0% 0
= 04 0
Z Dfs 14 25,000
a5 3t 39, 400




